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(B3 : F9)
BERIE FE(A) RE(B) Z=R(A)-(B) fw%E

B [MERKRBERA 390, 636, 000 398, 168, 332 -1,532, 332
g |y |EREESFMBIA 60, 000 11, 000 49,000
| A ZHF BECHEIRA 1, 300, 000 1,616, 042 -316, 042
& ZOMMDYRA 2,999, 000 655, 829 2,343,171
c EREEINAG (1) 394, 995, 000 400, 451, 203 -5, 456, 203
n MBI 2176, 257, 900 212,071,037 4,186, 863
EEES -y 53, 614, 000 51, 819, 326 1,794,674
eSS TR 28, 533, 100 21,021, 201 1,511, 899
W EREEE (2) 358, 405, 000 350, 911, 564 7,493, 436
X[ EEFEHERINTEE (3) = (1) - (2) 36, 590, 000 49, 539, 639 -12, 949, 639
E N[ fEREREmInSRA 900, 000 900, 000 0
IR [ A [MEESEEMREIRAGT (4) 900, 000 900, 000 0
F  |EEBERSH 6, 120, 000 5,512, 822 607,178
(c " TrAF2R - U-2EBORETH 840, 000 997, 920 -157, 920
& MissEfmE T HET (5) 6, 960, 000 6,510, 742 449, 258
07,) MEES RS E SN ERR (6) = (4) - (5) -6, 060, 000 -5, 610, 742 -449, 258
E L)If TOAMDTFEENRAGT (7) 0 0 0
B % |y EESE 30, 530, 000 11, 800, 000 18, 730, 000
I [t |zothoES =z st (8) 30, 530, 000 11, 800, 000 18, 730, 000
& [ZotOESERINTZEL (9) = (7) — (8) -30, 530, 000 -11, 800, 000 -18, 730, 000
FREx<t (10) 0
LHESINTERASt (11) = (3) + (6) + (9) — (10) 0 32, 128, 897 -32,128, 897
HIEARSIAE SRS (12) 447,097, 937 -447, 097, 937
SRS ERES (11) + (12) 0 479, 226, 834 -479, 226, 834

11



